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(800°C L E)|(200°CLLTF)| (100) [|(800°CLLE)|(200°CLLT)| (100) |[(800°CLAL)|(200°CLAT)| (100)
B t t t t °C °C ppm °C °C ppm °C °C ppm
1 144.07 - - 144.07 883 174 11 - - - - - -
2 149.14 - - 149.14 877 175 11 - - - - - -
3 151.74 - - 151.74 872 174 14 - - - - - -
4 116.32 - - 116.32 BEEBICEAITIF-IZEIT - - - - - — |mmisaeE
5 149.34 - - 149.34 871 175 14 - - - - - -
6 160.54 - - 160.54 881 176 9 - - - - - - |Ame—rs2
7 151.42 - - 151.42 880 172 12 - - - - - -
8 150.28 - - 150.28 877 174 11 - - - - - -
9 156.88 - - 156.88 885 173 10 - - - - - -
10 156.03 - - 156.03 882 174 7 - - - - - -
11 150.29 - - 150.29 876 174 8 - - - - - -
12 150.84 - - 150.84 880 176 11 - - - - - -
13 153.89 - - 153.89 889 173 8 - - - - - -
14 154.73 - - 154.73 872 173 9 - - - - - -
15 152.70 - - 152.70 875 171 7 - - - - - -
16 157.55 - - 157.55 881 173 8 - - - - - -
17 154.31 - - 154.31 881 171 9 - - - - - -
18 152.32 - - 152.32 872 171 9 - - - - - -
19 155.91 - - 155.91 882 172 14 - - - - - -
20 157.49 - - 157.49 881 175 8 - - - - - -
21 157.84 - - 157.84 884 177 7 - - - - - -
22 156.11 - - 156.11 881 176 7 - - - - - -
23 153.92 - - 153.92 881 174 12 - - - - - -
24 159.69 - - 159.69 875 176 11 - - - - - -
25 155.35 - - 155.35 885 174 14 - - - - - -
26 156.11 - - 156.11 879 175 8 - - - - - -
27 156.30 - - 156.30 883 173 11 - - -
28 154.11 - 19.93 174.04 874 175 12 - - - WBERIIFSL £ IF
29 154.66 - 63.29 217.95 880 173 13 - - -
30 159.68 - 97.50 257.18 884 176 7 - - - 847 195 2
31 156.02 - 102.33 258.35 880 174 10 - - - 840 195 3
B 474558 - 283.05 | 5,028.63
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